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What is the missing number in
the following pattern ?

puzzle 2

Which number is needed
to complete the puzzle ?

puzzle 3

Which option gives the correct answer ?

puzzle 1

Which number completes the puzzle here ?

puzzle 4
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Math in English

Answer to brain teasers

Brain  Teasers level 4  #18

puzzle 1 :    C
All symbols move 1 step clockwise around the center. The 
letters follow a +2 pattern.

puzzle 2 :    2
The digits in the 2nd  row multiply to 64, those in the 3rd to 72.

puzzle 3 :   15
The numbers in the square follow a ratio of 1:3:5.

puzzle 4 :    4
The numbers in the same position in the first 3 squares add up to the
numbers in the 4th square.
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